
 

 

 



Volume of loading dose of Xylazine was found to be 0.02ml  

Therefore, a 10 ml stock solution of 1mg/ml (0.1%) was prepared. 

V1C1=V2C2 

V1 * 20 = 10 * 1 

V1= 0.5 

9.5ml saline was added to 0.5ml xylazine to create a 0.1% solution of Xylazine  

New Volume using 0.1% solution =
0.05∗8.4

1
= 0.42 ml  

 

Determining drops per second for an 8.4kg sheep: 

8.4 ∗ 5 ∗ 20

3600
= 0.23 𝑑𝑟𝑜𝑝𝑠 𝑝𝑒𝑟 𝑠𝑒𝑐𝑜𝑛𝑑 (𝑎𝑏𝑜𝑢𝑡 1 𝑑𝑟𝑜𝑝 𝑒𝑣𝑒𝑟𝑦 4 𝑠𝑒𝑐𝑜𝑛𝑑𝑠 − 𝑑𝑖𝑓𝑓𝑐𝑢𝑙𝑡 𝑡𝑜 𝑐𝑜𝑛𝑡𝑟𝑜𝑙) 

 

Pediatric drip line changed drip rate in calculation to 60 drops/ml  

New drip rate: 

8.4 ∗ 5 ∗ 60

3600
= 0.7 𝑑𝑟𝑜𝑝𝑠 𝑝𝑒𝑟 𝑠𝑒𝑐𝑜𝑛𝑑 = 2 𝑑𝑟𝑜𝑝𝑠 𝑒𝑣𝑒𝑟𝑦 3 𝑠𝑒𝑐𝑜𝑛𝑑𝑠  

 

           


